ANSWERS =7 KauaTTons OF A CTRCH
WORKSHERT #4.

la) ©=3 b). v={3"
’Xf.,.. i:ri 'Xﬂ*i'
e Pt A u—)
le-l'-\ \91: q “Xli— =

) r=215 d) r=2r
'X:L.‘-I — f‘....i'- rx')._l__ }__:__rz
rx.;_*'?:: (9-1-‘37) x4 7= ( r)z
X*+go= H(5) X*p = Mr?
xX*+Y* = 0. ;

2. ArxTry=le

a) radius = Ve =M units

b) A-intercepts > -Mand+M

e) y-intercepts =7 M and +4.
d) demain {%]*Hf_maqj'xeﬂ}
e rance + {ylNeyH, yER S



B x*+y*=50
a)vradius = 60 = {25x2 = 82 units
b) Y-intercepts = -512 and 5{2
¢) Yrintercepts =» ~5V2 and 52
d) domain: i')( | -sia<x < 5'\@) XER 3
e) rance - §y|-8l2<y<8iZ, yeR]

3. fx%r-tj‘l =00

a) 6, ?) b) (?2,8)
TE %X=-6 TF 4=8 |
L (w@)2-+_9*=ioo Ly “x*+ (8)*<100
6 + y'=100 x*+ 6N =100
= 10036 = %o“eu
= M xX*=
Y =HeA or:=’-ﬁl§%
Jy=£8. X<
= (6,8 => (&l,%)
Qr

- Or
(-6 =81) Ed, )



¢) (10, ?) e) (?,5)
TE %=10. TE y=5
L, QoY +y* = 100 Ly Y% 24 (5)% 10O
\OO+3 =100 X*+23=100
= {010 X “=100"25
=0 xX*=75
= A=E\23X3
(o, 3D A=E 53
=> U0, |0} .
’ =>(5&1,5)
or
(5137,
£) (2, 5&“)
A Lj * d) (OJ ?)
0(*1—(5.!5:) =00
X *+925(2) =100 TF %X=0
X2+350= 100 Ls, (O)* tyo -1OC)_
% = 100-50 O e j 1OG
xX*= 950 =100-0O
=2V =00
T_{i\OCj
=30




M. ‘7(2'+sz= 25
a) (-5.0)
_§

(-5)‘ J(o)
oS +0
Q5

Since MS=R.S,
(-5.0) is loceded
on the circle.

) (O 5)

*?<*+ NEE
(0)* +Q‘5J“

O+ 25
2.5

Since kLS= RS,
(0,3) is bccd—ed
on the circle.

b') (0,25)
E.S
25
(0) +3(25)‘
O+ 625
625

Since KS# F{_S
(0,25) is ot Gceded
on Hhe aircCle .

d) (3; —A{)
§_§_
(5)2_,_5{ > >
1+ 1
Q5

Since KS=R_S,
3-M) is lot:cd—ed

on the Qrcle.



e) (12')2,122)
~—>(;§. _i>

T YT
(%)%
625 + 25
5N
I‘)_L?O

625
2
Since hS#R.S,

PRIDY I2}3)|5 T
(Ioccd-cd on H!:Lg—
Circile..

5. 0) (6 o)
Ly A= G; and 8:0

X “+ =

(L)*+ O)z'"—r

3+ O=r*
\36_-—"\'“9‘

Kquation => X *+y*= 36

) 27z, ™)
bS8y

X2yy* D5
(-zr)tj ()
N2+ i6

C+i6

M

Since k. 511:93
(-2{2 M) is
Jocated c-n the
Circle -

b) (0,~3)

Ly, Xx=0Oand 3—

X 1—32“%‘

(OY*+ (C3)=¢

O+CI = rl
9 =r*

E;bu&‘l’l on=7 X *1’-3" =q



c) (-3,4)

d) (), -{27)

L)‘X'“‘S and 9-' i_;,’x-f and 8 Py
(“3)*4-304)1-r u)“ 5( _rﬂ-
CH—lé:_-r“l | +—(:>_)-*~ri
25 =r*2 I+ 2 -
o = \"’"

Rquation=> > y*=25
Ecbuc{hon => 9{*‘-{-8‘.-.- S

Equation |Centre| Demain ’i‘f‘”ﬁﬁ Z-int | Y-iot
A+ Y=Y (0,0)  [xl-2¢x<2,xeR% {5\--2i3‘—‘-2,5EF€} “2and 2 |2 and 2
K+ y> =16 (0,0)  Rub4sex<s, xRy ful-9¢924,4€R2|"4 and d |-4 and 4
Xy =100 |(0,0)  |[{xhos<x=i0,xerE|§y|40<ysic, yerY~I0and IO |-I0and IC

24 ‘2.,_(7'
2 )

Hofind Radg \J ™ = Mdiag




7. M2+ q\(j"‘f‘-i

a) Jﬁ": ou divide btﬁ the common factor
O

Mx™ + l
m“

xX* + le = J_ * Now in Standard form of
Qircle with, center at (O Q)

b) 'Ti-f_ codius = | L

\H
= 1 umts
2
<. | ST
o) radius =8 umits b) Point (H,3)
wation X+ 2= (g)?* J_‘r"?( -‘-I Omd =
ECL | Xt D= oA o lﬂ r _3
LL&) Py
jeo + 9 = r”—
25=1r?*
V2s=r¢r
S=r

uation: Xy =8)*
E‘q’ X +% =25



) Reint (I3,-2)

fﬂj X=N3 and \j=‘2

A*

d) %-int=-5

I_) Cm'ﬁ‘ 5,0
x=-5 and Y= =0O.

$3)"+ L ?-)" = \* 3
3 +,? —rr;_ (—’5%’* CO - r"L
O = 2
=1+ v :1_5: 1‘:'-'-
| - - 23=r
Equation. X*+y*={7)" 5=1r
’X”"f%"‘: i
E)cbucz-l-uc,n X+ *=(5)"
xA*+(y2=25

e) Lj“'l“ﬁ"\‘ =4

LS Bt (O,L-I)
and gj“: H .

TF X=

*=r2
(O)" (H)*=r*
Otlo=*
gt
6=
H=y

Equuhon x* +—3

=(4)*
y*=lo



a) (m,3) b) (¢, K)
e 8:35 T8 x=-G
%+ (B)= (e)*+y*=36
X+ = \3(0 e+ ug*r=36
A= 36-9 Jr=36-¢
o= 27 a:=3
A=+ 27 %:1‘ 30
X=E VAX3 -
x=+3{3 |
c)(8,%)
TF x=% !
SYt)-Gﬁ
6N+ * =836

»= 360N
-2

g '2?

8 L, Since you cannct 'ﬁke'-l-hg::
y of (t_? necchve number
in the real mumber system,,

(8 \A) Cannct be a point
on H‘Le, circle .
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